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Final Make Up Exam
Important:

1) This exam has 4 parts with a total of 75 questions.

2) The exam paper consists of 10 pages including this page.

3) Exam duration is 150 minutes.

4) Write your student ID, name, group number, and tutor name in this page and also in the Answer Sheet.

5) Fill in your answers in the Answer Sheets. No paper will be graded if the answer sheet is not filled.

6) Questions 1 to 60 are one mark each and questions 61 to 75 are two marks each. 

معلومات هامة:

1) هذا الامتحان مكون من 75 سؤالا موزعة على 4 أجزاء.

2) عدد صفحات الامتحان 10 من ضمنها هذه الصفحة.
3) مدة الامتحان 150 دقيقة.
4) يجب كتابة الرقم الجامعي والاسم ورقم المجموعة واسم المعيد على هذه الصفحة وأيضا على صفحة الإجابة.
5) املأ الإجابات على صفحة الإجابة، ولن يصحح الامتحان ما لم تملأ صفحة الإجابة.
(6 الأسئلة من 1 الى 60 سؤال من درجة واحدة والأسئلة 61 الى 75 من درجتين.
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Part 1

Answer the following 20 multiple choice questions and fill your answers in the first table of the Answers Sheets. 
1. Which of the following could be an example of a portal site:
a. MSN. 
b. Yahoo.
c. google.
d. All of the above

Answer: d

2. SSL is a protocol used over the Internet to:
a. Provide a way of exchanging images.
b. Provide online security.
c. Provide chatting.
d. Speeds download time.

Answer: b
3. Which of the following is the symbol used to separate the sender’s name from the network ID in an email address?

a. #

b. ^

c. @

d. %

Answer: c
4. In the Internet, URL
a. specifies how information exchange between machines on the web should be handled.

b. represents a uniform way of structuring or writing documents on the web.

c. is a utility program that allows users to retrieve information from other places
d. finds a uniform way of specifying the location at which the web page is held.. 
Answer: d
5. The concept of richness vs. reach of information means:
a. The richer the information is the more people know about it.
b. The more information you have the richer you are.
c. The richer the information is the less reach it has.
d. If the information can reach a lot of people, then it must be rich. 

Answer: c
6. The main reason for using encryption on the Internet is:
a. To prevent people other than the recipient(s) from reading the message.
b. To speed up the communication.
c. To guarantee that the message reached its intended target.
d. None of the above. 

Answer: a
7. Which of the following is a factor for determining if a product could be successful online:
a. Product Characteristics.
b. Product familiarity and confidence.
c. Attributes of consumers who might buy this product.
d. All of the above
Answer: d
8. Usenet News and -------------- were two factors led to the significant change in the nature of the Net and increasing its number of users

a. Fidonet

b. NPL networks

c. Cyclades system

d. SATNET

e. Aloha network



Answer: a

9. Which Mark-up Language is the standard for the support of e-business? 

a. HTML

b. SGML

c. XML


Answer: c
10. The difference between XML and HTML

d. HTML have less tags

e. HTML use DTD

f. In XML user can define new tags

g. Documents can be easily modularized 

Answer: f
11. RFC stands for
a. Request For Changes

b. Report from Committee

c. Request For Comments

d. Request from Committee

e. None of the above


Answer: d
12.  In a packet the ‘time to live’ piece of information defines 

a. Time given to the source to retransmit a missing packet

b. Time given to the destination to organize and assemble the received packets

c. Time given to the router to route the packet

d. Time given to the packet to roam in the Internet before being discarded

e. None of the above


Answer: d
13. MOSAIC was the first killer application for the web because

a. It was the first browser program to run on simple desk top machine

b. It has GUI interface

c. It was designed to interpret the HTML <img> tag thus introducing images into the web
d. It was developed by Microsoft
e. None of the above

Answer: c
14. In order to be granted a patent, an inventor’s product or process must satisfy:

a. It must be computer based(Hardware or software)

b. It must be new

c. Must involve an innovative step

d. It must be owned by a company

e. It must be capable of industrial application

Answer: c
15. “The number of people who participate in the sharing of information” is known as the:

a. Reach of information

b. Information richness

c. Information explosion

d. Information technology


Answer: a
16. Which of the following is true about Disintermediation introduced by e-business:

a. Selling of the products directly to the customers via e-business
b. Removal of the middle men from the business transactions
c. It is a media relation firm
d. Both (a) and (b)


Answer:  d
17. The main reason for failure of the attempts to find an alternative payment method for the internet is:

a. Consumer communities
b. FTP
c. Internet bubble
d. Trust

Answer: d
18. One of the following is an IP address:

a. 120.3.4.2.5
b. 120.3.4
c. 120_3_4_5
d. 120.3.4.5

Answer: d
19. Basically, an internet packet is a string of bits divided into different:

a. Messages
b. Headers
c. Segments
d. Bytes

Answer: c
20. The web was invented at:

a. MIT
b. Microsoft
c. IBM
d. CERN

Answer: d

Part 2

Answer the following 20 True/False questions and fill your answers (T or F) in the second table of the Answers Sheets. 
21. Amazon.com  is an example of a website where you can buy products such as books and videos .

T

22. FTP is a protocol used to log into remote hosts (computers).

F (TELNET is for remote logins)
23. XML has more features than HTML.

T

24. Search engines allow you to find information on the web.
T

25. ANX is a private network which offers more control and security than the Internet.

T

26. An example of the Individual-to-Organization type of transactions is price bidding.

T e.g www.priceline.com  (Also Buying Cartels is I-2-O)
27. One of the ways that the new technologies such as the Internet can impact organizations is flattening of hierarchies. 
T

28. One of the problems of the initial design of the Internet is lack of security.

T

29. WWW was one of the earliest applications on the Internet.

F 
30. Circuit switching routes packets in the PSTN(Public Switched Telephone Networks) .

T
31. Internet uses centralized topology

F
32. P2P is a way of allowing internet-connected PCs to connect to each other directly across the net

T
35. HTTP is a client-server protocol used on the web for exchange of web pages

T
37. A protocol is a set of rules which determine how two or more entities interact and communicate.
T

38. Circuit switching uses routers to connect both parties.

F

40. Hypermedia draws on the capability of computers to link images, sound, animation, and video.

T

Part 3

Answer the next 20 fill-in space questions by selecting the most appropriate word from the following table and then filling the word number in the third table of the answers sheets.
	( 1 )

richness
	( 2 )

E-mail
	( 3 )

Semantic web
	 ( 4 )

SMTP
	( 5 )

grid
	( 6 )

WWW

	

( 7 )

HTTP
	( 8 )

protocols
	( 9 )

Search engines
	(10)

P2P
	(11)

Dot-com
	(12)

ES test

	( 13 )

SET
	(14)

XML
	(15)

Richard Stallman 
	(16)

Symmetric
	(17)

GUI
	(18)

deconstruction

	(19 )

Insecure
	(20)

DNS
	(21)

Usenet News
	(22)

TCP/IP
	(23)

FTP
	(24)

Meta Data

	(25 )

SSL
	(26)

Portal
	(27)

Universal Access
	(28)

 Pay load
	(29)

packet
	(30)

Online Auction


41. RFCs are a way in which Internet __8_____ were first documented and then developed.

___15__ was one of the main leaders of the open source movement. 

42. Although e-business eliminated the need of some types of mediation, ___9_____ can be seen as examples of Re-intermediation.

43. ___12__ is a way of determining whether a product can be successful online.

44. ___25__ is a protocol used to ensure security on the Internet.

45. Online transaction __5__ is a way of classifying the transactions that take place on the Internet
46. A ___29___ on the Internet passes through many routers before reaching its target.
47. ____23___ is a protocol that allows transferring files between remote computers.
48. A _20____ translates IP addresses into words. 
49. Every computer connected to the Internet should run __22___ protocols.

50. ___16___ encryption requires that the same key is used for both encrypting and decrypting of a message.

51. The Internet was able to replace some of the basic functions of organizations which can lead to __18_______.
52. _14____ allows users to have their own predefined tags.

53. In a traditional business the __1_____ of information can be a tradeoff with its reach.
54. Mosaic was the first _17___ browser. 
55. ___21_____ is a software that enables people to post many articles and notes to a shared location, which then can be read by people have access to that shared location.
56. Regarding the W3C, “Allowing the Web to be available for all people, regardless of their differences” is related to ------27--------- concept

57. The …7………… protocol is used to transmit information on the World Wide Web:
58. The ___18_____ helps in the flattening of an organization’s structure.

60. _____9_____ Allows search engines to locate web pages.

Part 4
Answer the next 15 essay questions by writing short answers in the corresponding question number in the answer sheet. Do not exceed the specified space for the answer in the Answer sheets.
61. Define the term disintermediation.
Disintermediation refers to the negative effect the internet has on intermediary companies because the internet allows consumers to bypass them.
62. Specify two determining aspects of the ES Test. 
The consumer attributes and also the product characteristics that relate to sight, sound, smell, taste and touch.
63. Describe the main difference between a hypertext and a hypermedia.
Hypertext refers to plain text whereas hypermedia includes multi-media content like images, video and audio

64. Specify two uses of the Internet. 
A massive encyclopedia and an entertainment medium

65. Define the term SMTP.
Simple Mail Transfer Protocol used in the exchange of emails

66. State, without any details, two protocols used in the application layer.
FTP and HTTP

67. Specify two disadvantages of  the EDI ”Electronic Data Interchange” without internet.  
It was a complicated network and also expensive one.

68. What does it mean for a software to be closed source. 
It means it is owned by a company and proprietary. It must be purchased to be used.
69. Define the term Re-intermediation in the Internet.
This is the introduction of new companies such as search engines and portals which never existed before.

71. State, without any details, two protocols that are used in WWW. 
HTTP and URL

72. Define the term Telnet.
This allows users to login to a remote computer and access its resources.

73. State, without any details, two of the key elements that are used to implement the WWW system proposed by Tim Berners-Lee.  
74. What are the differences between e-commerce and e-business?
E-commerce focuses on trade between businesses and customers i.e. B2C, where as e-business focuses on trade between businesses ie. B2B

75. What do we mean by public key cryptography? 
Two keys are used here. The public key is given out at the beginning of the session and is the key which is used to encrypt the data that is exchanged. The only key which can decrypt the data is the private key which is kept secure and not given out.
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